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Differences

e Most significant difference is the shape of each backscreen variant
e Location of the antenna connection varies slightly

Antenna connection

Ant 01 Ant_04 Ant 05

already certified antenna to be certified to be certified
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Differences

Ant_06 Ant_07 “Ant_08

to be certified to be certified to be certified

Ant_09 Ant_10

to be certified to be certified

HCC Stand 13.11.2013 Ne
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Antenna diagram 315 MHz horizontal polarisation Ant 01 [dBi]

maximaler Pegel: max = -15.0 dB

Integralwert: int{p) = -19.6 dB&
max[dB] = dB/ div
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maximaler Pegel: max = -14.8
Integralwert: = 5

int(p) = -
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Frequenz: f = 314. MHz F enz: f = 315. MHz Frequenz: f = 315.50 MHz

maximaler Pegel: max = -10.1 dB maximaler Pegel: max = -10.4 dB maximaler Pegel: max = -10.4 dB

Integralwert: int(p) = -15.2 dB Integralwert: int(p) = -15.8 dB Integralwert: int(p) = -15.5 dB
max[d dB/ dv
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Antenna diagram 315 MHz horizontal polarisation Ant 04 [dBi]

Frequenz: f = 314.00 MHz

maximaler Pegel: max = -9.3 db
int{p) = -14.9 dB&

Integ

max
-9.3

ralwert:

[dE]
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Frequenz: f = 314.50 MHz Frequenz: f = 315.00 MHz

rnaximaler Pegel: rmax = -9.7 dB raximaler Pegel: max = -9.9 dB
Integralwert: int{p) = -15.0 dB Integralwert: int{p) = -15.2 dB&
rmax [dE] B rmax [dE] B
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Antenna diagram 315 MHz vertical polarisation Ant 04 [dBi]

Frequenz: f = 314.00 MHz Frequenz: f = 314.50 MHz Freguenz: f = 315.00 MHz

rmaximaler Pegel max = -2.7 dB maximaler Pegel: max = -2.2 db rnaxirnaler Pegel: max = -2.2 dB

Integralwert: int{pi = -8.6 db Integralwert: intip) = -7.8 db Integralwert: int{p) = -8.3 dB
rna [dE] (o [=1lw rna [dB] By rna [dE] By i
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Antenna diagram 315 MHz horizontal polarisation Ant 05 [dBi]

maximaler Pegel: max = -9.4 dB maximaler Pegel: max = -8.7 dB maximaler Pegel: max = -9.4 dB
Integralwert: int{p) = -14.5 dB Integralwert: int{p) = -14.1 dB Integralwert: int(p) = -14.4 dB
max[dE] dB/ div max[dE]

dB/ div mex[dB] dB/ div
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Antenna diagram 315 MHz

maximaler Pegel: max = -2,

Integralwert: int(p) = -6
max[dB] dB/dwv
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vertical polarisation Ant 05 [dBi]

maximaler Pegel: max = -1,6 dB

Integralwert: int(p) = -6,0 dB
max[dB] dB/ div
-1,6 10
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maximaler Pegel: max = -0,8 dB

Integralwert: int(p) = -5,6 dB
max[dB] dB/ div
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horizontal polarisation Ant 06 [dBi]

Antenna diagram 315 MHz

-8,1 dB maximaler Pegel: max = -8,2 dB maximaler Pegel: max = -8,1 dB
Integralwert: int(p) = -14,3 dB Integralwert: int(p) = -14,3 dB
dB/ div max[dB] dB/ div
8,1 10

Frequenz:f = 314,00 MHz
Integralwert: -14,3 dB
dB/div max[dB]
8,2 10 ,

maximaler Pegel: max
int(p)
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Antenna diagram 315 MHz

maximaler Pegel: max

=-74dB
Integralwert: int{p) = -13,8 dB
max[dE] dB/ div
7,4 10
+1809 k\
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vertical polarisation

maximaler Pegel: max

Ant_06 [dBi]

maximaler Pegel: max

= -56,8 dB = -6,4 dB
Integralwert: int(p) = -13,5 dB Integralwert: int(p) = -13,1 dB
max[dE] dB/ div max[dE] dB/ div
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horizontal polarisation Ant 07 [dBi]

Antenna diagram 315 MHz

-8,1dB

maximaler Pegel: max
int(p) = -11,6 dB

Erequenz:f = 314,00 MHz Frequenz:f = 314,50 MHz
maximaler Pegel: max -7,4 dB maximaler Pegel: max = -7,8 dB
Integralwert: int(p) = -12,2 dB Integralwert: int(p) = -11,9 dB Integralwert:
max[dB] dB/ div ma i max[dB] dB/ div
7.4 10 7, 8.1 10
i ‘ /

+180
0°
ol .

[

e

+180F k +1807
0F 0°
_bJQIA._ -180°

-180°

Stand 13.11.2013 Ne

HCC



"€ Hirschmann Car Communication

vertical polarisation Ant 07 [dBi]

Antenna diagram 315 MHz

maximaler Pegel: max
int(p)

dB
dB Integralwert:

maximaler Pegel: max -3, maximaler Pegel: max = -3,
Int(n) = -5, int{p) =

dB
dB Integralwert:

Integralwert:
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Antenna diagram 315 MHz

maximaler Pegel: max
int{(p) = -11.8 dB

Integralwert:

max[dB]
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horizontal polarisation Ant 08 [dBi]

maximaler Pegel: max = -6.2 dB maximaler Pegel: max = -5.7 dB
Integralwert: int(p) = -11.5 dB Integralwert: int{(p) = -11.2 dB
max[dB] dB/ div max[dE] dB/ div
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vertical polarisation Ant 08 [dBi]

Antenna diagram 315 MHz

maximaler Pegel: max = -89 dB maximaler Pegel: max = -8,5 dB maximaler Pegel: max = -8,1 dB
Integralwert: int{(p) = -13,1 dB Integralwert: int(p) = -12,7 dB Integralwert: int(p) = -12,5 dB
max[dE] dB/div max[dE] dB/ div
-8,9 10 8.1 10
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horizontal polarisation Ant 09 [dBi]

Antenna diagram 315 MHz

maximaler Pegel: max = -

L e Frequenz: f = 314,50 MHz
maximaler Pegel: max = -5,4 dB maximaler Pegel: max = -5,6 dB
Integralwert: int(p) = -9,2 dB Integralwert: int(p) = -9,2 dB Integralwert: int(p) 9,3
div max[dB] dB/ div / div
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Antenna diagram 315 MHz

maximaler Peael: max = -9,2dB

Integralwert: int(p) = -12,7 dB
max[dB] dB/div
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maximaler Pegel: max =
int(p) = -1

Integralwert:
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vertical polarisation

+1809

00
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Ant 09 [dBi]

maximaler Peael: max = -8,3 dB
Integralwert: int(p) = -12,6 dB
max{dB] dB/ div
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horizontal polarisation Ant 10 [dBi]

Antenna diagram 315 MHz

-8.1dB

maximaler Pegel: max =
int(p) = -14.1 dB

maximaler Pegel: max = -6.9 dB maximaler Pegel: max = -7.7 dB

int(p) = -13.5 dB Integralwert: int(p) = -13.9 dB Integralwert:
max[dB] dB/div
10

Integralwert:
dB/div
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Antenna diagram 315 MHz vertical polarisation Ant 10 [dBi]

maximaler Pegel: max = 0.3 dB

Integralwert: int(p) = -3.7 dB

max [dB]
0.3

dB/div
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maximaler Pegel: max = 0.5 dB maximaler Pegel: max = 0.7 dB
Integralwert: int(p) = -3.5dB Integralwert: int(p) = -3.7 dB
max[dB] dB/div
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